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| @ The fourth termin the expansion of
1 . \
(x4 ;)“ according to the descending
power of x equals
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| ~ Findthe volumeof the parallelepiped '9;4 7y S g e o
in which three not paralle! (adjacent) | (3 yo0) &g 3 I B
sides are represented by the vectors

A=(3~41), B=(02-3)and

L =(322)
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@ The number of ways in which 4 cars parks

adjacently in the parking area in a form of
a row that contains 10 places for parking
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If Z=-5(cos60" —i sin60") , then the
prinCiple argument (amplitude) of the (Vo )08
number Z equals & 2aall ALYl i S

Z = - 5 Mo S o)
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: The length of the diameter of the sphere
whose equation: PINETETA oy 4
3x* +3y° +32° +18x - 24y +122+3 =0

length unit,

® /7

A 9
3N AP 3T AE F2M 4+ 1 LE 8™
A =
A
XA AR B RY + Uzt ) =0

e 422000 42k «2H T 4=
[*:3/ k—:‘h\ IM:Q
Centey 45 (F3,4,-2)

\ = \[Lz'*c 2+ M= C
'—\[‘3*!6-&“\‘\ =




r |
MR /George Adel (1) Booklet 1 Exam Algebra For Third Sec 2018

I
I @ Without expanding the determinant , Prove that :

| .
x X411 (x+1)*

y YT (y +1)°
z 2¢+1 (z+1)°
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' @ The measure of the angle between the two

: 3 (-3
straight lines : L, : -

Y 329 @@\ =-1¢
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@ Answer one of the following items:
(a) Bind the algebraic form of

angles of equal measures.

“B(-2,5, 1) and C (-4, 4 27

the vector 4 suchthat: || A || =S5 units
and 1t-forms with the coordinate axes

(Y Prove that the triangle ABC is a right.
angled triangle at B such that A (2,-1,3),
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: e - - Y A o2
If 1,w,w?* areithe cubic roots of one, 2330l g (0 (00) 58 3]
el domd gl EananS!
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The length ofithe perpendicular drawn from
the'point’(2,3,1) to the plane :
2x-2y+z =5 equals ........... length umt.
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If Z."' 1= ﬁ'i, then the exponential form
~of Z is 37
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I @ Use the multiplicative inverse of the matrix g7 Sadlplase
to.solve the following equation; AV okl > gl
2x - 3}1 -2=9
Xb2y+32=15

< o) e
c RN = RI(A)E3
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@ Prove that the two planes:
XFoy+6z=4,

o ) OKT 0¥ o Y
X +2y +2z7 Jate parallel, P V= Ehr R o
then find the distance between them. Nogiws &0ty 3 1 g2
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@ The directiopscosinies of the vector
A=(<212) are
Loy
©) 3 (-2,1,2)
® CLLY)

T = WRW LG B, S Oy, 6s Oz)
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The equation of the line of intersection of oyl o\ Ja- Dslas
the two planes : V-2l -0fTae e bt oo -
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(b) Find the'square roots of the complex. i’J \ J l&
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the cubic roots of Z in thc exponcnual
form.




